0114

P EEE®
EEVINVEV B play




@

O

VIRED
Py




O

VIRED
Py

O




VIRE]




-

<15

64x M10x120 (K2)
68x M10x120 (K3)

|

6x M8x120 (K2)
2x M8x120 (K3)

E

NOT
INCLUDED w

NOT
INCLUDED E

m + +

[cm]

80 68 74
i ! ! !
C D N O
A M P
,\‘“--I:l O O =,
0,00 \\
N\
\\\\
144159 AN

O O O O
G \_H J K
F E \ | L
(—% O . ;] =

- 34 \\\\ E

< \\ ]

N J




114A
x1

011119

[cm]

x4

§’

114B
x1

114L
x1

996132
X2

N

114C
x1

114M
x1

011142

X2

114D
x1

011114
X6

B

991127
x3

011129

X2

1140 114P 011229

L N 2 & g &

114E 114F 114G 114H 1141 114J

x1 x1 x1 x1 x1 x1

X1 x1 X2

014107 011133 011101 011150
X2 x4 x2 x8
011111 011109 996184 011143
x1 x1 x1 x4
011126 011122 011154 142121
X2 x1 x1 X2
VInE]

RRaY,




4

K1,K2

996115 012101 994146
x1 X2 x2

HPL K1,K2 y K3

991241 012104 012105 011280
x8 x1 x1 x8

HDPE HPL ST/INOX PLYWOOD HPL
3x CE1 CL1 2x PS9 PH9
2x CE3 CL3 2x PS11 PH11
7x CE4 CL4 2x PS12 PH12
1x CE6 CL6 2x PS19 S PH19 S
1x CE7 CL7 2x PS41 ¢ PH41 S¢
1x CES8 CL8
1x CE9 CL9
1x CE17 CL17
2x CE93 CL93
2x CE111 CL111
2x CE112 CL112
5x E1
2x E14
2x E34 K1K3
2x E35 K2

E37 K2,K3

1x E38 K2K3
4x E130
3x WD67
3x WD68
1x Z15
1x V001

[cm]

VIRED
play,




A

VIRE]
play,




@\

N ><< [ . V/
. I; ’ 1T PLYWOOD HPL
ke Al ; 2x [PS11|()[PH11]

. Tl & )
o ><’ - \ PLYWOOD  HPL
Al 2x  |PS9|()|PHY|

P
P O
K
P
O >
&2
<? s .

VA
V.
AN

=
/0
\

[ERN
TS X

—
/\
A\

: VInE
Yl e [PACRT




011154 g

Ny

—

PLYWOOD HPL
3x |CE1]()[CL1]

3x CE; CL4 5 3 7 Wﬁ@@ﬁ
o e Ve pray,




TTTo011150 | |
4 X L P N

]| — 996132




2x [CE93]()[CL93]

NN @ RLay;




[WD67 | [WD68|

i

1 x[E38]

O

VIRED
Py

O

Vs

[cm]




PLYWOOD

HPL
1x [CE7]( ) [CL7]

2
=0 N
> .‘
e\ R 1
D NN S ]
[8yA [ B %) > ° (
A N\
J|9d N Q RN . “ .
N N\ = N\
‘ \ Y . 1SN N | B
AW SN\
/ AN
\ A2 AN \
~ \\\ AL
1 < A Y [ AT )
\\\W))) S
\ 1Y) A -
N D . A AN\ . . .
N )
. ;
¢ D
oRJ
. . .-‘\“
A%
1‘/" ‘ ‘
g
’ €]
7

VAN RLay;




)

®)

)

1N

|

-\)

T T

T T

"
U_
X
0

N\
18
o
o]
A5
-

[em]

Llai il Sl

VIRED
play;




-,

VIRED
play,




